							Ectimata		
			Estimated		Total	Estimated No. of	Estimate d Total		
Section of		Form No.	No. of Responden	Reports filed	Annual Responses	Man-hours per	Man- hours	Wage	Total Cost
Regulation	Title	(if any)	ts	Annually	(D) x (E)	response	(F) x (G)	Class	(H) x (I)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)

REPORTING REQUIREMENTS - NO FORMS

Uniform Residential Appraisal Report (Lender)	URAR	5,333	27.91	148,864	0.16	23,818	\$24.04	\$572,590
Inspections of Construction (Lender)	Written New Construction	5,333	10.01	53,358	0.50	24,346	\$24.04	\$585,278
	Existing Dwellings	5,333	22.45	119,740	0.50	59,870	\$24.04	\$1,439,275
Standard Credit Documentation-Application	URLA	148,864	1.00	148,864	3.00	446,592	\$16.83	\$6,717,442
Transfer & Assumption (Lender)	Written	2	1.00	2	0.50	1	\$16.83	\$17
Guaranteed Rural Housing Loan Status Report (servicing lenders only)	Electronically	1,782	4.00	7,128	0.25	1,782	\$16.83	\$29,991
Guaranteed Rural Housing Borrower Default Status	Electronically	394	12.00	4,728	0.50	2,364	\$16.83	\$39,786
Guaranteed Annual Fee	Electronically	1,782	81.43	145,109	0.16	23,217	\$16.83	\$390,742
Servicing Plan	Written	227	51.43	11,674	1.00	11,674	\$21.39	\$61,599
Property Disposition Plan (Lender)	Written	324	20.69	6,704	1.00	6,704	\$16.83	\$112,828
Future Recovery (Verification of Sale)	Written	258	16.09	4,150	0.16	664	\$16.83	\$11,175
Overpayment Notification (Lender)	Written	1	1.00	1	0.50	1	\$16.83	\$8
Mortgage Credit Certificate (Applicant)	Written	164	1.00	164	0.16	26	\$16.83	\$442
	Report (Lender) Inspections of Construction (Lender) Standard Credit Documentation-Application Transfer & Assumption (Lender) Guaranteed Rural Housing Loan Status Report (servicing lenders only) Guaranteed Rural Housing Borrower Default Status Guaranteed Annual Fee Servicing Plan Property Disposition Plan (Lender) Future Recovery (Verification of Sale) Overpayment Notification (Lender) Mortgage Credit Certificate	Report (Lender) Inspections of Construction (Lender) Report (Lender) Inspections of Construction (Lender) Existing Dwellings Standard Credit URLA Documentation-Application Transfer & Assumption (Lender) Guaranteed Rural Housing Loan Status Report (servicing lenders only) Guaranteed Rural Housing Borrower Default Status Guaranteed Annual Fee Electronically Servicing Plan Written Property Disposition Plan (Lender) Future Recovery (Verification of Sale) Overpayment Notification (Lender) Mortgage Credit Certificate Written	Report (Lender) Inspections of Construction (Lender) Report (Lender) Inspections of Construction (Lender) Report (Lender) Existing Dwellings Standard Credit Documentation-Application Transfer & Assumption (Lender) Guaranteed Rural Housing Loan Status Report (servicing lenders only) Guaranteed Rural Housing Borrower Default Status Guaranteed Annual Fee Electronically Servicing Plan Written Property Disposition Plan (Lender) Future Recovery (Verification of Sale) Overpayment Notification (Lender) Mortgage Credit Certificate Written 164	Report (Lender) Inspections of Construction (Lender) Report (Lender) Standard Credit Documentation-Application Transfer & Assumption (Lender) Report (Lender) Standard Credit Report (Lender) Report (Lender) Report (Lender) Report (Lender) Report (Lender) Standard Credit Report (Lender) Report (Lender) Report (Lender) Standard Credit Report (Lender) Standard Credit (Lender) Standard Credit (Lender) Report (Lender) Standard Credit (Lender) Standard Credit (Lender) Standard Credit (Lender) Standard Credit (Lender) Report (Lender) Standard Credit (Lender) Standard Credit (Lender) Report (Lender) Standard Credit (Lender) Report (Lender) Standard Credit (L	Report (Lender)	Report (Lender)	Report (Lender)	Report (Lender) S,333 Z/.91 148,864 0.16 23,818 \$24.04 Inspections of Construction (Lender) Written New Construction S,333 10.01 53,358 0.50 24,346 \$24.04 Existing Dwellings 5,333 22.45 119,740 0.50 59,870 \$24.04 Standard Credit Documentation-Application URLA 148,864 1.00 148,864 3.00 446,592 \$16.83 Transfer & Assumption (Lender) Written 2 1.00 2 0.50 1 \$16.83 Guaranteed Rural Housing Loan Status Report (servicing lenders only) 1,782 4.00 7,128 0.25 1,782 \$16.83 Guaranteed Rural Housing Borrower Default Status Electronically 394 12.00 4,728 0.50 2,364 \$16.83 Guaranteed Annual Fee Electronically 1,782 81.43 145,109 0.16 23,217 \$16.83 Servicing Plan Written 227 51.43 11,674 1.00 11,674 \$21.39 Property Disposition Plan (Lender) Written 258 16.09 4,150 0.16 664 \$16.83 Future Recovery (Verification of Sale) Written 1 1.00 1 0.50 1 \$16.83 Mortgage Credit Certificate Written 164 1.00 164 0.16 26 \$16.83 Mortgage Credit Certificate Written 164 1.00 164 0.16 26 \$16.83 Servicing Contact Sale Sal

NO-FORM TOTAL: 154,197 650,486 601,059 \$9,961,172

Section of		Form No.	Estimated No. of Responden		Total Annual Responses	Estimated No. of Man-hours per	Estimate d Total Man- hours	Wage	Total Cost
Section of Regulation	Title	Form No. (if any)	Responden ts	filed Annually	Responses (D) x (E)	per response	hours (F) x (G)	Wage Class	Cost (H) x (I)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)

REPORTING REQUIREMENTS - FORMS APPROVED WITH THIS DOCKET

Section 1980.309 (e)	Guaranteed Rural Housing Lender Record Change	Form 1980-11 Initial Loan Sale	0	0.00	0	0.50	0	\$16.83	\$0
		Transfer of Servicer	1,782	40.37	71,948	0.50	35,974	\$16.83	\$605,442
		Forced Transfer	4	1.00	<u>4</u>	0.50	2	\$16.83	\$34
Section 1980.309 (d)	Agreement for Participation Guaranteed/Insured Loan Programs of the U.S. Government	Form 1980-16	161	1.00	161	4.00	644	\$28.85	\$18,579
Section 1980.309 (f) (3)	Rural Housing Guarantee Report of Loss	Form 1980-20	258	35.80	9,236	1.00	9,236	\$16.83	\$155,449
Section 1980.351	Request for Reservation of Funds	Form 1980-86	0	0.00	0	0.50	0	\$16.83	\$0
Section 1980.353 (c)	Request for Single Family Housing Loan Guarantee	Form 1980-21	5,333	27.91	148,844	0.50	74,422	\$16.83	\$1,252,523
Section 1980.355	Conditional Commitment for SFH Guarantee	Form 1980-18	5,333	27.72	147,817	1.00	147,817	\$16.83	\$2,487,760
Section 1980.361	Loan Note Guarantee	Form 1980-17	5,333	27.21	145,111	0.08	12,092	\$16.83	\$203,510
Section 1980.390 (f) (2)	Master Interest Assistance and Shared Equity Agreement with Promissory Note	Form 1980-12 - No Activity at This Time	0	0.00	0	1.00	0	\$0.00	\$0
Section 1980.390 (f) (2)	Annual Interest Assistance Agreement	Form 1980-13 Borrower	22	1.00	22	0.16	4	\$16.83	\$59
		Lender	22	1.00	22	0.50	11	\$16.83	\$56

FORM TOTAL: 523,165 280,202 \$4,723,413

							Ectimata		
			Estimated		Total	Estimated No. of	Estimate d Total		
Section of		Form No.	No. of Responden	Reports filed	Annual Responses	Man-hours per	Man- hours	Wage	Total Cost
Regulation	Title	(if any)	ts	Annually	(D) x (E)	response	(F) x (G)	Class	(H) x (I)
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)

REPORTING REQUIREMENTS - APPROVED UNDER OTHER OMB NUMBERS

Section 1980.317 Section 1980.353 (c)	Equal Opportunity Agreement RD Form 400-1	Form RD 400-1 (0575-0018)	152	1.00	152	0.16	24	\$16.83	\$1,176
Section 1980.317	Compliance Statement RD Form 400-6	Form RD 400-6 (0575-0018)	152	1.00	152	0.16	24	\$16.83	\$1,176
	Request for Verification of Employment RD Form 1910-5	Form RD 1910-5 (0575-0172)	0	1.00	0	0.25	0	\$16.83	\$0
Section 1980.361 (a)	Guaranteed Loan Closing Report RD Form 1980-19	Form RD 1980-19 (0575-0137)	5,333	27.91	148,844	1.00	148,844	\$16.83	\$168,949

SUMMARY												
Section of Regulation	Title	Form No. (if any)	Estimated No. of Responden ts	Reports filed Annually	Total Annual Responses (D) x (E)	Estimated No. of Man-hours per response	d Total Man- hours (F) x (G)	Wage Class	Total Cost (H) x (I)			
(A)	(B)	(C)	(D)	(E)	(F)	(G)	(H)	(1)	(J)			
	NO-FORM TOTAL:				650,486		601,059		\$9,961,172			
	FORM TOTAL:				523,165		280,202		\$4,723,413			
	TOTAL BURDEN:		154,197	0.00	1,173,651	0.00	881,261		\$14,684,585			